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Linear Systems L56

Solving Linear Systems by Linear
Combination Explore - Day 1
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3+5=8
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1. Are all of the equations above true? L mé )
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2. In each example, where did the third equation come from? . '
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3. Create another example to determine if this will always happen.
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4. Add the two eguations in this system. { /27:

c. Find the value of x. 72
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d. What is the :-Ziuﬁon to this system of equations?
A
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The proceés that you just performed is called linear combination or elimination. Linear combination is
a process that involves adding two linear equations to create one equation with only one variable.

5. How is solving a system using the linear combination method similar to solving a system using the

substitution method?

- ] - = A SR e
r.:iw Ty \f?iff?)g‘;:/_ﬂ"' i‘“‘\ NI G AVIS = Wi T S ’ i |
| e T a0 ey et b Ovne oCam a G

AN G

s <.

A

Sl o

O Gay~

O{ ey \i’>‘°§”\§\% ngf\_{h ~€: (;:’ l\&; ({\}L,}, LSH

Page 1 of 2




Linear Systems L56
Mr. Nguyen bought a package of 3 chicken legs and a package of 7 chicken wings. Ms. Dawes bought a
package of 3 chicken legs and 4 chicken wings. Mr. Nguyen bought 45 ounces of chicken. Ms. Dawes
bought 36 ounces of chicken. Together they wrote this sysTem of equations to find the weight of each
chicken leg and chicken wing. hx p3z >
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{BZ + 4o =36

6. Use the system of equations above to answer the following questions.

a. Add the fwo equations. ( - g/m ’WEM \E l (> é;i\?‘._}

b. Was a variable eliminated? Why or why not? } o
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c. Multiply both sides of the second equation by -1.
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e. Was a variable eliminated? ) .
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f. We could have multiplied both sides of either equation by any number.. Why did we choose to

multiply the second equation by -1
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g. Refurn to 6d and find the solution To the system. — 3.4 j\,L_{ (1)"’ 8lc:
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. Solve the system using linear combina on “5)/}@3 \”f
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8. Write a system of equations that could easily be solved by linear combination. Do not solve the
system.
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